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MATEMATIK TAMBAHAN  

KERTAS 1 
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4 ( a )  8p = 2  
          p = ¼     
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7 y = 2x2 + ax + b 

dx

dy
 = 4x + a 

 
( 1, 5 ) :  4(1) + a = 8 
              a = 4 
 
5 = 2(1)2 + 4(1) + b 
b = -1 
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8 m1 = k 
m2 = 2( m – 5 ) 
 
k = 2( m – 5 ) 
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Luas PQRS = 
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Maka P, Q, R, S adalah segaris 
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k = -3 , 5 
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11 ( a )   2x + k = y 
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( b )  f( 5 ) = 2k 
        2(5) + k = 2k 
              k = 10 
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12 p = 3 
g( p ) = q 
3p – 5 = q 
3( 3 ) – 5 = q 
q = 4 
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13 ( a )  h = 9 
 
( b )  { 1, 4, 9,16 } 
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=  0.682 – 1  
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15 2n = p 
2n+3 – 2n 
= 2n x 23 – 2n 
=  8p – p 
=  7p 
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16 log y = log a + ( k – 1 ) log x 
 
k – 1 = 3 
k = 4 
 
log10 a = 2 
a = 100 
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b2 – 4ac = 0 
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18 x2 + x – 2 > 0 
 
 
 
                        -2                1 
 
                          x < -2 , x > 1 
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3
sin   

               3398.0  rad 

 
radAOB 6796.03398.02   

 
 
 
( b )  AB = 9 ( 0.6796 ) 
              =  6.116 cm 
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20 0]sin21[3sin7 2  xx  

03sin7sin6 2  xx  

2

3
sin x     x tidak tertakrif 

3
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sin x      00 53.340,47.199x  
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21 3x -2 – 8 = 18 – ( 3x – 2 ) 
x = 5 
 
8, 13 , 18 
d = 5 
 
T5 = a + 4d 
= 8 + 4(5) 
= 28 
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=  0.27 + 0.0027 + 0.000027 + ........ 
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k = 3  , m + 2 = 11 
             m = 9 
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23 120 saat , 114 saat ,  108 saat 
d = -6 
 
( a )  T6 = a + 5d 
             =  120 + 5(-6) 
             =  90 
 
( b )  S6 = 6/2 [ 2(120) + 5(-6) ] 
              = 630 s 
              = 10.5 min  
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( a )  2.0
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                 X = 1.62 kg 
 
( b )  P( X > 1.5 ) 
        = P( z > - 0.5 ) 
        =  0.6915 
        =  69.15 % 
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25 ( a )  8C4 x 5C2  
 
= 70 x 10 
= 700 
 
( b )  0P6L  + 1P5L  + 2P4L 
= 5C0 x 8C6  +  5C1 x 8C5 + 5C2 x 8C4 
=  28 + 280 +  700 
=  1008 
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